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PART A: Vocabulary
Directions: Choose the number of the answer (1), (2), (3). or (4) that best completes the sentence. Then mark
your choice on your answer sheel.

| ~Because Rose was poor, she had 0 ............... her idea of going to college.

1) seize 2) abandon 3) abolish 4) hinder
2.1 had to fire my babysitter because she was so ............... , | was afraid one of the children would
eventually get seriously hurt under her care, or lack thereof.

1) negligent : 2) assertive 3) fragmented 4) inferior
3 =My aunt's emotional ............... makes it hard for her to offer a smile.
1) rigidity 2) vicinity 3) vastness 4) tendency
4 It was interesting to learn that most people with disabilities don't find them to bea(n) ...............
I )evasion 2) anxiety 3) hindrance 4) frankness

5 -When my job began to seem ............... , I began my search for something more interesting and challenging.

1) flexible 2) monotonous 3) insufficient 4) unanimous
6 -The President's most ............... decision is to decide whether or not to go to war.
1) misleading 2) solemn 3) obtainable 4) reformatory

in our classroom that we wished the school would buy an air conditioner.

T =It Was S0 ccoevvinnnnn,
4) impulsive

1) monotonous 2) dominant 3) humid

8 =He wasn't trying to ............... you when he said that his was the best car in the world; he was just

exaggerating.

1) devote 2) perceive 3) deceive 4) transfer
9 _It should be mentioned that the cost of borrowing has been ............... from the inflation figures.
1) impressed 2) excluded 3) dramatized 4) convinced
10 = There is a movement to ............... old plays for modern audiences. .
1) revive 2) fulfill 3) confront 4) resent

- PART B: Grammar
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each blank. Then §
mark your choice on your answer sheet.

The 32,000-word novella The Time Machine by H.G. Wells, published in 1895, is generally credited
with ....(11).... the idea of time travel by means of a time machine, a vehicle ....(12).... the occupant backward
or forward in time. Dozens of sequels and adaptations over the years have further promoted the notion. Indeed,
Albert Einstein’s Theory of Special Relativity ....(13)... the foundation for the possibility of time travel. So far,
no one has demonstrated the ....(14).... amazing ability to travel in time. ....(15)...., time machines have been
constructed, and they do allow glimpses into the past.

1l a

1) popularity 2) to popularize 3) popularizing 4) popularly'
12

1) takes 2) which take 3) which taking 4) taking
13:s z

Dlies 2) lays 3) which lies -4) which lays
14 :

1) especial 2) specialized 3) especially 4) specializing

1

thn

1) Therefore 2) Moreover 3) However 4) Since
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PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by choosing the best choice (1), (2),
(3), or (4).Then mark the correct choice on your answer sheel.

Passage 1

What we now call a computer can be more formally described as a stored program Electronic Digital
Computer. Until the 1960s there were two different types of computer: Analogue Computers and Digital
Computers. Whereas a digital computer stores its data and performs its operations using digital (numeric)
representation (usually using binary numbers), an analogue computer does this by analogy using quantitics like
electronic voltages, volumes of liquid or fractions of the turn of a wheel. This article is concerned primarily with
digital computers as analogue computers have now all but disappeared from the scene. but we will give some
consideration to the use of analogue computers before the 1940s.

The dictionary defines a computer as “an electronic device which is capable of receiving information (data)
and performing a sequence of logical operations in accordance with a predetermined but variable set of
procedural instructions (program) to produce a result in the form of information or signals™

The key here is that a computer must be programmable and so able to perform various operations under the
control of different programs. It must be able to do more than just a single thing. An electronic device that
automatically performs one or more fixed set of operations, like that of a washing machine, an electric bread
maker, an espresso coffee maker, an automatic car wash or a car engine management system, cannot be called a
computer, To be what we know as a general purpose computer, the device must be capable of performing
various different general sets of operations under the user's control: it must be programmable, and the program
must be able to be stored in the device, hence the name “stored program computer”. (A Stored-program digital
computer stores its program (instructions) as well as its data in internal memory and typically makes use of what
is known as “von Neumann a:qhitecture’:)

16 ~From paragraph one it can be understood that;
1) Today we have two types of computers.
2) Digital computers came into use since 1940.
3) Digital computers were in use before 1960.
4) Analogue computers were in use before 1960.

17 = According to the definition of a computer in dictionary, which of the below is not true?

1) Computer outpizt is information or signals.
2) Program is a set of operations that determines a set of procedural instructions.

5) The input of a computer is data.
4) In summary, computer receives data processes it through programs & provides output.

18 - Being programmable is important to computers to:
1) Be able to perform various operations 2) Be able to run a program
3) Be able to do a specific action 4) Be able to perform a fixed operation

19 ~ Which of the below is not true about modern computers?

1) They store programs. 2) They store data.

3) They use a specific number of programs. 4) They use von Neumann architecture.,
20 = The passage is:

1} A short history of computers 2) the introduction of a book

3) Introducing digital & analogue computers 4) Part of an article
Passage 2

Flame is a powerful virus discovered by Russian security organization kaspersky Labs in May 2012 it is
suspected that Flame is aimed at the government systems of nations in the Middle East, especially Iran. This
deadly Virus is reported to have a code base at least 20 times larger than that Stuxnet, which was a very
dangerous virus that targeted Iran's uranium enrichment facilities. Flame is believed to be exclusively designed

to steal top secret information.
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Flame has the ability to collect data files, switch on PC microphones to capture conversations. remotely
modify the settings on computers, record instant messaging conversations and grab screen shots.

According to the research from Kaspersky, the majority of infected systems are in Iran, followed by
Palestine, Israel, Syria and Sudan. Kaspersky Lab.considers the introduction of the Flame virus another phase in

cyber warfare, B
Crysys Lab authorities claim that the Flame virus is carefully engineered to be highly potent and secretly
gather information from large networks of infected machines. The Flame virus tackles all important
“opportunities to collect information. Such as the screen Keyboard Wi-Fi, Microphone network, storage devices,
System processes, Bluetooth and USBs.
Investigators illustrate unparalleled software layers, which are intended to unnoticeably permit the Flame
virus to break into computer networks. The 20 MB file infects Microsoft Windows Computers and includes five

encryption-algorithms and unique data storage models.

At the time the virus was discovered, Crysys Lab claimed that a link between Flame, Stuxnet and Duqu has
not yet been proven. Although they share several common elements, flame bears one minor similarity to the
other viruses. For example, The Flame virus dos not automatically self propagate, but it can do so if enabled by

its hidden controllers. S

21 - From the sentence underlined in paragraph one it can be understood that:
1} Stuxnet was not a virus.
2) Stuxnet has a larger code base than Flame.
3) Stuxnet was aimed at [ran's uranium enrichment facilities.
4) Flame was aimed at Iran's uranium enrichment facilities.

22 - Flame does all of the below except:
1) Switch on microphones & save conversations 2) Save massages & conversations
3) Delete files stored on the computer 4) Change computer settings

(5]

- According to Crysys Lab the main aim of the flame is to:

1) Modify the computer settings 2) Infect Large networks
3) Record conversations 4) Gather information from Large networks

24 . Which of the below is not true about the structure of the flame?

1) It has a unique data storage model. 2) If infects 20 MB Files.

-
Lo

3) It includes five encryption algorithms. 4) It has unparalieled Layers
25 = Which is the best title for the passage? '

1) Complicated virus programming 2) Kaspersky

3) Crysys Lab . 4) Flame
Passage 3

The first firewalls were application gateways, and are sometimes known as proxy gateways. These, are made

up of bastion hosts that run special software to act as a proxy server. This software runs at the application Layer

- of the ISO/OSI Reference Model Clients behind the firewall must be proxitized (that is, must know how 1o us¢
the proxy; and be configured to do so) in order to use Internet services. Traditionally, these have been the most

secure, because they don't allow anything to pass by default, but need to have the programs written and turned
on, in order to begin passing traffic.

These are also typically the slowest, because more processes need to be started in order to have a request’
serviced.

Packet filtering is a technique whereby routers have ACLs (Access Control Lists) Turned on. By default, a
router will pass all traffic sent to it, and will do so without any sort of restrictions. Employing ACLs is a method
for enforcing ‘your security policy with regard to what sorts of access you allow the outside world to have to
your internal network, and vice versa.

There is less overhead in packet filtering than with an application gateway, because the feature of access
control is performed at a lower ISO/OSI Layer (typically, the transport or session layer). Due to the lower
overhead and the fact that packet filtering is done with routers, which are specialized computers optimized for
tasks related to networking, a packet filtering gateway is often much faster than its application layer cousins.

a
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26 - What is a firewall's basic function?
1) They run the application Layer.
3) They run internet services.

2) They filter the passing traffic.
4) They allow traffic to pass through by default.

27 ~Proxitize means:
1) Acting as a proxy server
3) Knowing how to use proxy

2) Acting as a proxy gateway
4) Proxifying

28 _Firewalls are:
1) The fastest & most secure method
3) The fastest & least secure method

29 _Which of the below is the best explananon of why packet filtering is faster?
1) Because it has an ACL and some allowed traffic will pass without any restrictions.

2) Because there is a security policy.
3) Because it is performed at lower layers.
4) Because it is performed at lower layers and allows some traffic to pass by default.

30 - Which of thé below is the best title for the passage?

2) The slowest & least secure method
4) The stowest & most secure method

2) Application gaféways

1) Network security
3) Firewalls 4) Packet filtering
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